

**DELNET- Developing Library Network** 

JNU Campus, Nelson Mandela Road Vasant Kunj New Delhi-110070

Contact: 011-26741305, 26741232 E-Mail: hkkaul@gmail.com www.delnet.nic.in

### Receipt

Received with thanks from: SINHGAD ACADEMY OF ENGINEERING

S NO. 40, KONDHWA-SASWAD ROAD KONDHWA (BK.), PUNE-411048

(DELNET MEM NO. IM-6013)

The sum of

: Indian Rupees Eleven Thousand Five Hundred Only

Ву

: SINHGAD ACADEMY OF ENGINEERING; SHRI ANAND CO-OP BANK LTD. CHINCHWAD (India)

Cheque/DD

CH 123170 16-Jan-2017

11,500.00

Remarks

: AMOUNT RECEIVED TOWARDS ANNUAL INSTITUTIONAL

MEMBERSHIP FEES FOR THE PERIOD 01-01-2017 TO 31-12-2017

\*\*₹ 11,500.00/-

\*\*Subject to Realisation

th 100P iory



#### श्री आनंद को- ऑफ बैंक लि. चिंचवड SHRI ANAND CO-OP BANK LTD. CHINCHWAD

1944, Sandesh, Opp. Gokhale Park, Near Chaphekar Chow's, Chinchwad, Pune 411 033.

	Valid	for 3	month	s fror	n the	date o	fissu	е
दिनांक Date	1	6	0	1	2	0	1	7
Date	D	D	M	M	Y	Y	Y	Y

Pay DELNET

या धारक को Or Bearer

रूपये Rupees Heven Thousand five Hundred Only

अदा करें।

₹ 11500/-

खाता सं。 A/c No.

11510000940

C/A

SINHGAD ACADEMY OF ENGINEERING

PRESIDENT

Clearing Sub-Member of COSMOS Bank, Pune

membership fee

#123170# 411164295# 000940# 11



# DELNET

# **Developing Library Network**

J.N.U. Campus, Nelson Mandela Road Vasant Kunj, New Delhi 110070, India Tel: 91-11-26742222, 26741266 91-9810329992 (Mobile)

Fax: 91-11-26741122

E-mail: sangs@delnet.ren.nic.in, sangskaul2003@yahoo.co.in

Web: www.delnet.nic.in

DELNET/IM-6013/mhSAE/MEM/2017

February 4, 2017

Sub: DELNET Membership

Dear Ms. Karanikar.

We acknowledge with thanks the receipt of ₹ 11,500/- (₹ Eleven Thousand Five Hundred only-) vide cheque no. 123170 dated 16.1.2017 made towards the DELNET Annual Institutional Membership Fee for the period 1.1.2017 to 31.12.2017. The receipt no. 45553 dated 24.1.2017 is enclosed for the office records.

You are requested to access DELNET databases through the World Wide Web using the following procedure:

> Web Address: http://www.delnet.nic.in Click onto DELNET (old portal)

Login

: mhsae

Password

: sae6013

For asking the books on Inter Library Loan or the photocopy of an article, you have to click to the "POST" icon in the full display screen of a record once a specific book or an article is searched through title, author etc. Kindly note your ILL Password is "mhsaelib" to be used while registering a request. You are also welcome to send us the bibliographical references at sangs@delnet.ren.nic.in, sangskaul2003@yahoo.co.in for the resources, which are not available in our union catalogues. We will try our best to locate these resources. Also, a complete demo on how to access DELNET online databases is available at YouTube. The link is available at DELNET database site.

I would like to inform you that DELNET has launched a new discovery portal for Member-Libraries. Kindly arrange to send us the filled-in copy of enclosed IPbased Access questionnaire so that the access to the new portal can be provided through IP authentication.

I am enclosing a poster on DELNET and a Certificate of Membership. Please kindly let us know if you wish to get any books on ILL or the journal articles.

With kind regards,

Sangeeta Kaul

Rathod 87,9822529800

ccodematemne ognation

Ms. Asmita A. Karanikar

Librarian

10

Sinhgad Academy of Engineering

S.No. 40, Kondhwa-Saswad Road, Kondhwa (BK),

Pune-411048

Maharashtra

Encl: (1) Receipt no. 45553 dated 24.1.2017 of ₹ 11,500/-

(2) DELNET Poster

(3) 'How to Access DELNET' - Brochure

(4) Certificate of Membership

(5) IP-based Access Questionnaire



### SINHGAD TECHNICAL EDUCATION SOCIETY'S

## SINHGAD ACADEMY OF ENGINEERING

[ Affiliated to Savitribai Phule Pune University & Approved by AICTE ]

S. No. 40, Kondhwa - Saswad Road, Kondhwa(BK.), Pune - 411048. Tel. (D): 020 67571115

• Tel. (O): 020 67571116 • Tele Fax: 020 67571115 • E-mail: saeprincipal@sinhgad.edu • Website: www.sinhgad.edu

Prof. M. N. Navale M.E. (Elect.), MIE, MBA FOUNDER - PRESIDENT Dr. (Mrs.) Sunanda M. Navale B. A., M. P. M., Ph. D. FOUNDER - SECRETARY Dr. Kishor P. Patil M.E., Ph.D. PRINCIPAL

# Sinhgad Academy of Engineering Book Bill Detail

#### Academic Year 2017-2018

## **Accession from 19858-20056**

Sr. No.	Supplier Name	P.O. No. and Date	Bill No./ Date	Acc. No.	Title	Vol.	Amount Rs.
1.	Goel's	-	956/ 08.05.2017	19858	1	1	543.20
	Computer Hut						
2.	Researchco	-	RBPPL67118/ 17-	19870-	75	146	76568.00
	Books		18/ 12.09.2017	19963,			
				19965-			
		2		20016			
3.	Researchco	-	RBPPL67218/17-	19964,	6	13	5495.00
	Books		18/ 19.09.2017	20017-			
				20028			
4.	Researchco		RBPPL67620/17-	20038,	1	2	810.00
	Books		18/01.11.2017	20039			
4.	Researchco	-	RBPPL67415/17-	20040-	9	14	7690.00
	Books		18/ 06.10.2017	20053			
6.	Researchco	-	RBPPL67866/ 17-	200054	1	1	827.00
	Books		18/ 23.11.2017				
7.	Researchco		RBPPL68268/17-	20055-	1	2	630.00
	Books		18 / 23.12.2017	20056		V	
			Total		94	179	92563.20

LIBRARIAN
Sinhgad Academy of Engineering
Khondawa (Budruk).
Pune-48



ATTESTED

SINHGAD ACADEMY OF ENGINEERING
S. No. 40, Kondhwa - Saswad Road,
Kondhwa (Bk), Pune - 411048

BCUD

Dr. K.P. Patil Si

Invoice No. 956 Ref. No. Dated 8-May-2017

#### GOEL'S COMPUTER HUT-01.04.2014

126, Budhwar Peth, Jogeswari Temple Lane, ABC, Pune. Phone No:24451958, 24451959 E-Mail :compuhut@pn2.vsnl.net.in

#### INVOICE

Party: Principal Sinhagad Academy of Engineering

kondhwa

SI No.	Description of Goods	Part No.	Quantity	Rate	per	Disc. %	Amount
1	Cloud Computing:Principles & Paradigms, Buyya	9788126541256	1 Nos	679.00	Nos	20 %	543.20
							· 
					- X		
	Total		1 Nos				In₹ 543.20

Amount Chargeable (in words)

E. & O.E

Indian Rupees Five Hundred Forty Three and Twenty paise Only

Company's PAN

: ABJPG3470E

Declaration

We declare that this invoice shows the actual price of the goods described and that all particulars are true and correct.

for GOEL'S COMPUTER HUT-01.04.2014

Authorised Signatory

These books has been accessioned in Accession Reg. No. 3 Page Nos. 86

Acc Nos.: 19858 Total No. of Books. 1

Total Cost of books: 543/-

LIERARIAN

Sinhgad Academy of Engineering Khondawa (Budruk). Pune-48. PRINCIPAL

SINHGAD ACADEMY OF ENGINEERING S. No. 40, Kondhwa - Saswad Road, Kondhwa (Bk), Pune - 411048



Fax: 91-11-23240273

Email: researchco@researchco.net; akj@researchco.net

Website: www.researchcoindia.com

Researchco Books & Periodicals Pvt. Ltd.

4735/22, 2nd Floor, Prakash Deep Building, Near P.N.Bank, Ansari Road, Darya Ganj New Delhi-110002

## **INVOICE**

THE PRINCIPAL

SINHGAD TECHNICAL EDUCATION SOCIETY'S - SINHGAD

ACADEMY OF ENGINEERING

S. NO. 40/4A, NEAR OCTROI POST, KONDHWA-SASWAD

ROAD, S. NO. KONDHWA

PUNE - 411 048

(MAHARASHTRA)

Your Order No:

**Order Dated** 

TRANSPORT

Sent By Invoice No.

: RBPPL67118/17-18

**Invoice Date** 

: 12-Sep-17

Yrsno	Qty	Author	Title		Unit Prc	Total Prc	Rs. Prc	Dis%	Net(Rs.)
1	T 5	BHANDARI V	<b>DEPTT. 01- TE MECHANICAL BOOK LIST</b> MACHINE DESIGN DATA BOOK	Rs.	725.00	3,625.00	3,625.00	10.00	3,262.50
~ 2	71	SHARMA P.C	TEXTBOOK OF MACHINE DESIGN/ 12TH   EDN	RS	550.00	550.00	550.00	10.00	495.00
*3	1	SHARMA C.	DESIGN OF MACHINE ELEMENTS	Rs.	450.00	450.00	450.00	10.00	405.00
*4	5	GOPE P.C	MACHINE DESIGN: FUNDAMENTALS AND APPLICATIONS	Rs.	725.00	3,625.00	3,625.00	10.00	3,262.50
5	1	THIRUMALE	FUNDAMENTALS OF HEAT AND MASS \ TRANSFER	Rs.	769.00	769.00	769.00	10.00	692.10
*7	1.10	KOTHANDA	HEAT AND MASS TRANSFER DATA BOOK /9TH EDN	RS.	225.00	2,250.00	2,250.00	10.00	2,025.00
8	1	PAL, D. K & B	DESIGN OF MACHINE TOOLS/6TH EDN	RS.	435.00	435.00	435.00	10.00	391.50
*9	R 1	SHARMA C.	THEORY OF MECHANISMS AND MACHINES	Rs.	425.00	425.00	425.00	10.00	382.50
*10	R	VASANDANI	THEORY AND DESIGN OF HYDRAULIC MACHINES INCLUDING: BASIC FLUID MECHANICS/11TH EDN.	Rs.	260.00	260.00	260.00	10.00	234.00
. 11	R 5	ҮАНҮА S М	TURBINES COMPRESSORS AND FANS/ 4TH EDN	Rs.	695.00	3,475.00	3,475.00	10.00	3,127.50
12	T 5	PAI B. U	TURBOMACHINES	Rs.	569.00	2,845.00	2,845.00	10.00	2,560.50
14	+1	DIXON S.L. &	FLUID MECHANICS AND THERMODYNAMICS OF TURBOMACHINERY/ 7TH EDN	RS.	495.00	495.00	495.00	10.00	445.50
15	R 1	SINGH, ONKA	THERMAL TURBOMACHINES	RS.	539.00	539.00	539.00	10.00	485.10
17	R 1	BEWOOR AN	METROLOGY & MEASUREMENT	Rs.	699.00	699.00	699.00	10.00	629.10
*18	7.1	NARAYANA I	ENGINEERING METROLOGY/ 3RD EDN	RS.	300.00	300.00	300.00	10.00	270.00
19	RI	KULKARNI V	QUALITY CONTROL N	Rs.	589.00	589.00	589.00	10.00	530.10
	41		Continued/					1	19,197.90

45792/

SINHGAD ACADEMY OF ENGINEER

Sinhged Accuracy of Engineering Khonessia (Budruk). Dune-48

S. No. 40, Kondhwa - Saswad Ro Kondhwa (Bk), Pune - 44104/

PRINCIPAL



Fax: 91-11-23240273

Email: researchco@researchco.net; akj@researchco.net

Website: www.researchcoindia.com

# Researchco Books & Periodicals Pvt. Ltd.

4735/22, 2nd Floor, Prakash Deep Building, Near P.N.Bank, Ansari Road, Darya Ganj New Delhi-110002

## **INVOICE**

¥7	04	A ()	The state of the s					B/F	
Yrsno	Qty	Author	Title	_	Unit Prc	Total Pr	Rs. Prc	Dis%	Net(Rs.)
21	T1	ARORA C.P	<b>DEPTT. 02- SE MECHANICAL BOOK LIST</b> THERMODYNAMICS	Rs.	850.00	850.00	850.00	10.00	765.00
24	R 1	SINGH AJEE	MACHINE DRAWING : INCLUDES AUTOCAD / 2ND EDN	Rs.	660.00	660.00	660.00	10.00	594.00
*26	R 2	RAVI B	METAL CASTING: COMPUTER-AIDED DESIGN AND ANALYSIS	Rs.	225.00	450.00	450.00	10.00	405.00
	T 1	DONALDSO	TOOL DESIGN /5TH EDN.	RS.	695.00	695.00	695.00	10.00	625.50
*2	R <sup>2</sup>	RAGHUNAT	DEPTT. 03- T.E. CIVIL BOOK LIST HYDROLOGY PRINCIPAL ANALYSIS DESIGN/ 3RD EDN	Rs.	325.00	650.00	650.00	10.00	585.00
3	R 2	CHOW VEN T	APPLIED HYDROLOGY	RS	885.00	1,770.00	1,770.00	10.00	1,593.00
4	7.2	WARD ROB	PRINCIPLES OF HYDROLOGY /4TH EDN.	Rs.	895.00	1,790.00	1,790.00	10.00	1,611.00
*5	7 2	CHANDRA S	RAILWAY ENGINEERING/ 2ND EDN	Rs.	545.00	1,090.00	1,090.00	10.00	981.00
6	R 2	MUBARAK S	CONSTRUCTION PROJECT SCHEDULING AND CONTROL/ 2ND EDN	Rs.	839.00	1,678.00	1,678.00	10.00	1,510.20
*8	R (2	SHIYEKAR D		RS.	450.00	900.00	900.00	10.00	810.00
10	T 2	RAM K,S SAI	DESIGN OF STEEL STRUCTURES, REVISED /2ND EDN	RS.	439.00	878.00	878.00	10.00	790.20
11	T-2	GAMBHIR M	FUNDAMENTALS OF STRUCTURAL STEEL DESIGN	Rs.	840.00	1,680.00	1,680.00	10.00	1,512.00
12	T1	MENON DEV	STRUCTURAL ANALYSIS	Rs.	850.00	850.00	850.00	10.00	765.00
13	T-2	WEST HARR	FUNDAMENTALS OF STRUCTURAL ANALYSIS/ 2ND EDN	Rs.	749.00	1,498.00	1,498.00	10.00	1,348.20
*18	72	GODBOLE P	INTRODUCTION TO FINITE ELEMENT / METHOD	Rs.	425.00	850.00	850.00	10.00	765.00
19	(2	SUBRAMAN	FLOW IN OPEN CHANNELS/ 4TH EDN	RS.	625.00	1,250.00	1,250.00	10.00	1,125.00
21	72	CENGEL YU	FLUID MECHANICS: FUNDAMENTALS AND APPLICATIONS/ 3RD EDN	Rs.	725.00	1,450.00	1,450.00	10.00	1,305.00
*22	R 2	SRIVASTAV	FLOW THROUGH OPEN CHANNELS	Rs.	425.00	850.00	850.00	10.00	765.00
*23	T 2	MOHANTY A	FLUID MECHANICS /2ND EDN.	Rs.	350.00	700.00	700.00	10.00	630.00
	75	•	Continued/				111	,	37,683.00

Sinhgad Academy of Engineering Khondawa (Budruk), Pune 48

PRINCIPAL

SINHGAD ACADEMY OF ENGINEERING
S. No. 40, Kondhwa - Saswad Road,
Kondhwa (Bk) Pune - 411048



Fax: 91-11-23240273

Email: researchco@researchco.net; akj@researchco.net

Website: www.researchcoindia.com

## Researchco Books & Periodicals Pvt. Ltd.

4735/22, 2nd Floor, Prakash Deep Building, Near P.N.Bank, Ansari Road, Darya Ganj New Delhi-110002

## **INVOICE**

<b>X</b> 7	04	A 27				<del></del>		B/I	
Yrsno	Qty	Author	Title		Unit Prc	Total Pr	Rs. Prc	Dis%	Net(Rs.)
*24	Q 2	DAS MADAN	OPEN CHANNEL FLOW	Rs.	350.00	700.00	700.00	10.00	630.00
*28	7.2	DUGGAL S.	<b>DEPTT. 04- S.E. CIVIL BOOK LIST</b> BUILDING MATERIALS/ 4TH EDN	Rs.	350.00	700.00	700.00	10.00	630.00
*34	2.	DUTTA A K &	TEXTBOOK OF STRENGTH OF MATERIALS	Rs.	350.00	700.00	700.00	10.00	630.00
39	T 2	DAS BRAJA N	PRINCIPLES OF GEOTECHNICAL ENGINEERING/8TH EDN	RS.	699.00	1,398.00	1,398.00	10.00	1,258.20
7-40	T 2	VENKATRA	GEOTECHNICAL ENGINEERING /5TH EDN	RS.	550.00	1,100.00	1,100.00	10.00	990.00
42	2	ANDERSON J	SURVEYING: THEORY AND PRACTICE/ 7TH EDN	Rs.	1,040.00	2,080.00	2,080.00	10.00	1,872.00
*2	2	NAVAS K. A.,	DEPTT. 05- T.E E & TC BOOK LIST LAB PRIMER THROUGH MATLAB: DIGITAL SIGNAL PROCESSING, DIGITAL IMAGE PROCESSING, DIGITAL SIGNAL PROCESSOR AND DIGITAL COMMUNICATION	RS.	350.00	700.00	700.00	10.00	630.00
3	R 2	RAMACHAN	MECHATRONICS: INTEGRATED MECHANICAL ELECTRONIC SYSTEMS (WITH CD)	Rs.	749.00	1,498.00	1,498.00	10.00	1,348.20
4	R 2	SHETTY DEV	MECHATRONICS SYSTEM DESIGN/ 2ND   EDN	Rs.	525.00	1,050.00	1,050.00	10.00	945.00
7	R 1	PEEBLES PE	DEPTT. 06- S.E E & TC BOOK LIST PROBABILITY RANDOM VARIABLES AND RANDOM SIGNAL PRINCIPLES/ 4TH EDN	Rs.	650.00	650.00	650.00	10.00	585.00
8	T 2	KANI A NAG	,	RS.	540.00	1,080.00	1,080.00	10.00	972.00
*9	72	BABU P RAM	SIGNALS AND SYSTEMS Alread	Rs.	610.00	1,220.00	1,220.00	10.00	1,098.00
10	2	MAINI ANIL I	ELECTRONIC DEVICES AND CIRCUITS	Rs.	589.00	1,178.00	1,178.00	10.00	1,060.20
11	+ 2	CHAKRABA	ELECTRICAL MACHINES	RS.	570.00	1,140.00	1,140.00	10.00	1,026.00
12	R 2	FITZGERALD	ELECTRIC MACHINERY/6TH EDN.	Rs.	715.00	1,430.00	1,430.00	10.00	1,287.00
13	R 2	NED MOHAN	ELECTRIC MACHINES AND DRIVES: A FIRST COURSE	Rs.	529.00	1,058.00	1,058.00	10.00	952.20
*14	T 2	KUMAR, A. A	FUNDAMENTALS OF DIGITAL CIRCUITS   /4TH EDN	RS.	550.00	1,100.00	1,100.00	10.00	990.00
	108		Continued/				11/1/	1/	54,586.80

LIBRARIAN
Sinhgad Academy of Engineering
Khondawa (Budruk)

PRINCIPAL

SINHGAD ACADEMY OF ENGINEERING S. No. 40, Kondhwa - Saswad Road,

Kondhwa (Bk), Pune - 411048



Fax: 91-11-23240273

Email: researchco@researchco.net; akj@researchco.net

Website: www.researchcoindia.com

# Researchco Books & Periodicals Pvt. Ltd.

4735/22, 2nd Floor, Prakash Deep Building, Near P.N.Bank, Ansari Road, Darya Ganj New Delhi-110002

### **INVOICE**

**	0.1							B/F	
Yrsno	Qty	Author	Title		Unit Prc	Total Pr	Rs. Prc	Dis%	Net(Rs.)
*3	R 2	FOWLER AD	DEPTT. 07- IT BOOK LIST NOSQL FOR DUMMIES	RS.	499.00	998.00	998.00	10.00	898.20
5	72	HARRY R. L	ELEMENTS OF THE THEORY OF COMPUTATION/2ND EDN	RS.	469.00	938.00	938.00	10.00	844.20
7	£2	RAHUL DE	MIS MANAGING INFORMATION SYSTEMS   IN BUSINESS GOVERNMENT AND SOCIETY	Rs.	719.00	1,438.00	1,438.00	10.00	1,294.20
10	< 2	maini anil f	<b>DEPTT. 08- SE BOOK LIST</b> DIGITAL ELECTRONICS PRINCIPLES AND INTEGRATED CIRCUITS	Rs.	589.00	1,178.00	1,178.00	10.00	1,060.20
11	R 2	MACKENZIE	8051 MICROCONTROLLER/ 4TH EDN.	Rs.	859.00	1,718.00	1,718.00	10.00	1,546.20
12	+2	GOODRICH, N	DATA STRUCTURES AND ALGORITHMS IN C++ /2ND EDN	RS.	689.00	1,378.00	1,378.00	10.00	1,240.20
13	T.2	DEITEL PAU	C++ HOW TO PROGRAM/9TH EDN	RS.	799.00	1,598.00	1,598.00	10.00	1,438.20
V	R 1	DEITEL ET. A	<b>DEPTT. 09- TE BOOK LIST</b> OPERATING SYSTEMS/ 3RD EDN	Rs.	989.00	989.00	989.00	10.00	890.10
4	R1	ANAMI BAS	FORMAL LANGUAGES AND AUTOMATA THEORY	Rs.	539.00	539.00	539.00	10.00	485.10
5	7	LEE R C T ET	INTRODUCTION TO THE DESIGN AND ANALYSIS OF ALGORITHMS: A STRATEGIC APPROACH	Rs.	895.00	895.00	895.00	10.00	805.50
8	R	MARCHEWK	INFORMATION TECHNOLOGY PROJECT MANAGEMENT /4TH EDN	RS.	639.00	639.00	639.00	10.00	575.10
12	R 1	ROGERS YV	INTERACTION DESIGN: BEYOND HUMAN - COMPUTER INTERACTION / 3RD EDN	Rs.	819.00	819.00	819.00	10.00	737.10
13	R1	COOPER AL	ABOUT FACE: THE ESSENTIALS OF INTERFACE DESIGN /4TH EDN	RS.	799.00	799.00	799.00	10.00	719.10
14	T 1	SINGH Y N	DISCRETE MATHEMATICAL STRUCTURES	Rs.	639.00	639.00	639.00	10.00	575.10
1.5	7	GOSSETT ER	DISCRETE MATHEMATICS WITH PROOF/ N 2ND EDN	Rs.	779.00	779.00	779.00	10.00	701.10
16	2	USHA M & S	COMPUTER SYSTEM ARCHITECTURE AND ORGANIZATION	RS.	519.00	519.00	519.00	10.00	467.10
			DEPTT. 10- SE IT BOOK LIST						
]	132		Continued/					/	69,546.60

LIBRARIAN

PRINCIPAL

Kandhua (Rk) Duna - 411048

Pune-43

Sinhgad Academy of Engineering



Fax: 91-11-23240273

Email: researchco@researchco.net; akj@researchco.net

Website: www.researchcoindia.com

## Researchco Books & Periodicals Pvt. Ltd.

4735/22, 2nd Floor, Prakash Deep Building, Near P.N.Bank, Ansari Road, Darya Ganj New Delhi-110002

#### **INVOICE**

							B/F	
	Author	Title		Unit Prc	Total Pr	Rs. Prc	Dis%	Net(Rs.)
17 FL	LOYD L. TH	DIGITAL FUNDAMENTALS/ 10TH EDN	Rs.	759.00	759.00	759.00	10.00	683.10
19 T PA	AI G A V	DATA STRUCTURES AND ALGORITHM CONCEPTS TECHNIQUES AND APPLICATIONS	S: Rs.	565.00	565.00	565.00	10.00	508.50
20 T1 VI	ENKATESA	DATA STRUCTURES (WITH CD)	RS.	479.00	479.00	479.00	10.00	431.10
21 P 1 K	AMTHANE A	INTRODUCTION TO DATA STRUCTURE C	ES INRs.	519.00	519.00	519.00	10.00	467.10
G T SI	HUKLA R.	OBJECT ORIENTED PROGRAMMING IN (WITH CD-ROM)  DEPTT. 11- F.F. BOOK LIST		469.00	469.00	469.00	10.00	422.10
*1 -5 N	AGRATH I	DEPTT. 11- F.F. BOOK LIST THEORY AND PROBLEMS OF BASIC ELECTRICAL ENGINEERING/ 2ND EDN	RS.	595.00	2,975.00	2,975.00	10.00	2,677.50
3 R 5 G	HEZZI CAR	PROGRAMMING LANGUAGE CONCEPT 3RD EDN.	S/ Rs.	559.00	2,795.00	2,795.00	10.00	2,515.50
* Pri	inted Price	Total Quantity: 146		Tot	al Rs.			76,568.4
Currency Rai	tes :							= ( = ( )
,				Su	b Total Rs.			76,568.4
kupees Seven	ty Six I nous	sand Five Hundred and Sixty Eight Onl	ly	RO	OUNDED O	FF +/-		0.40
				Gr	ant Total Re	S.		76,568.0

GSTIN- 07AADCR8463J1ZY (PRE - RECEIPTED) # We certify that the latest edition of the publication are supplied & they are not remaindered titles.

# We certify that correct pulisher price has been charged.

- # We certify that the available India/ISE/Orignal edition are supplied per publisher.
- # Payment may be made by Bank Draft after deducting the Bank charges.
- # Payable at Deutsche Bank, Connaught Place Branch (IFSC Code: DEUT0784PBC, A/C: 000028697000019)
- # PRINTED BOOKS ARE EXEMPTED UNDER GST HSN CODE: 4901 (TAX 0%)

Payment may be made by Bank Draft after deducting the Bank charges.

Thanking you for your patronage and awaiting your further orders.

Our Pan No. AADCR8463J

Non-receipt of goods or any discrepancy must be reported within a week and payment the made witin thirty days the date of this invoice. If payment is not made within 30 days, interest will be charged @ 18% p.a.

Certified that the publisher's correct price has been charged and the supplied titles are not remaindered the

for RESEARCHCO BOOKS & PERIODICALS PV

rage 5 of 5

PRINCIPAL

SINHGAD ACADEMY OF ENGINEERING S. No. 40, Kondhwa - Saswad Road, Kondhwa (Bk), Pune - 411048

Sinhgad Academy of Engineering Khondawa (Budruk).

Pune-48



Fax: 91-11-23240273

Email: researchco@researchco.net; akj@researchco.net

Website: www.researchcoindia.com

### Researchco Books & Periodicals Pvt. Ltd.

4735/22, 2nd Floor, Prakash Deep Building, Near P.N.Bank, Ansari Road, Darya Ganj New Delhi-110002

#### **INVOICE**

THE PRINCIPAL

SINHGAD TECHNICAL EDUCATION SOCIETY'S - SINHGAD

ACADEMY OF ENGINEERING

S. NO. 40/4A, NEAR OCTROI POST, KONDHWA-SASWAD

ROAD, S. NO. KONDHWA

PUNE - 411 048

(MAHARASHTRA)

Your Order No:

**Order Dated** 

Sent By

: BY SFC/TRANSPORT

Invoice No.

: RBPPL67218/17-18

**Invoice Date** 

: 19-Sep-17

Yrsno	Qty	Author	Title		Unit Pre	Total Prc	Rs. Prc	Dis%	Net(Rs.)
14	1	DIXON S.L. &	DEPTT. 01- TE MECHANICAL BOOK LIST FLUID MECHANICS AND THERMODYNAMICS OF TURBOMACHINERY/ 7TH EDN	RS.	495.00	495.00	495.00	10.00	445.50
*15	2	PUNMIA B.C.	DEPTT. 03- T.E. CIVIL BOOK LIST THEORY OF STRUCTURES/ 13TH EDN	RS.	475.00	950.00	950.00	10.00	855.00
41	2	VENKATRA	DEPTT. 04- S.E. CIVIL BOOK LIST TEXTBOOK OF SURVEYING/ 2ND EDN	RS.	625.00	1,250.00	1,250.00	10.00	1,125.00
43	2	CLARK DAV	PLANE AND GEODETIC SURVEYING FOR ENGINEERS: PLANE SURVEYING /Vol-1	RS.	395.00	790.00	790.00	10.00	711.00
	1	BICHKAR R S	ect "	RS	495.00	495.00	495.00	10.00	445.50
*2	3	JEYAPOOVA	DEPTT. 11- F.E. BOOK LIST ENGINEERING DRAWING AND GRAPHICS USING AUTO CAD/3RD EDN.	RS.	425.00	2,125.00	2,125.00	10.00	1,912.50

Continued..../

13

Sinhgad Academy of Engineering Khondassa (Budruk),

5,494.50

PRINCIPAL SINHGAD ACADEMY OF ENGINEERING S. No. 40, Kondhwa - Saswad Road,

Kondhwa (Bk). Pune - 411048



Fax: 91-11-23240273

Email: researchco@researchco.net; akj@researchco.net

Website: www.researchcoindia.com

## Researchco Books & Periodicals Pvt. Ltd.

4735/22, 2nd Floor, Prakash Deep Building, Near P.N.Bank, Ansari Road, Darya Ganj New Delhi-110002

#### **INVOICE**

		B/F
Yrsno Qty Author Title	Unit Prc Total Pr Rs. Prc D	is% Net(Rs.)
* Printed Price Total Quantity: 13	Total Rs.	5,494.50
Commence Production		
Currency Rates:	Sub Total Rs.	5,494.50
Rupees Five Thousand Four Hundred and Ninety Five Only		
	ROUNDED OFF +/-	-0.50
	Grant Total Rs.	5,495.00

CIN- 07AADCR8463J1ZY

(PRE - RECEIPTED)

# The certify that the latest edition of the publication are supplied & they are not remaindered titles.

- # We certify that correct pulisher price has been charged.
- # We certify that the available India/ISE/Orignal edition are supplied per publisher.
- # Payment may be made by Bank Draft after deducting the Bank charges.
- # Payable at Deutsche Bank, Connaught Place Branch (IFSC Code: DEUT0784PBC, A/C: 000028697000019)
- # PRINTED BOOKS ARE EXEMPTED UNDER GST HSN CODE: 4901 (TAX 0%)

Payment may be made by Bank Draft after deducting the Bank charges.

for RESEARCHCO BOOKS & PERIODICALS PV

Thanking you for your patronage and awaiting your further orders.

Non-receipt of goods or any discrepancy must be reported within a week and payment the made witin thirty days the date of this invoice. If payment is not made within 30 days, interest will be charged @ 1907

Certified that the publisher's correct price has been charged and the supplied titles are not remaindered

Page 2 of 2

Sinhgad Academy of Engineering Khondawa (Budruk). Pune-48

PRINCIPAL SINHGAD ACADEMY OF ENGINEERING S. No. 40, Kondewa - Saswad Road, Kondhwa (Bk), Pune - 411048



Fax: 91-11-23240273

Email: researchco@researchco.net; akj@researchco.net

Website: www.researchcoindia.com

## Researchco Books & Periodicals Pvt. Ltd.

4735/22, 2nd Floor, Prakash Deep Building, Near P.N.Bank, Ansari Road, Darya Ganj New Delhi-110002

#### INVOICE

THE PRINCIPAL SINHGAD TECHNICAL EDUCATION SOCIETY'S - SINHGAD

ACADEMY OF ENGINEERING S. NO. 40/4A, NEAR OCTROI POST, KONDHWA-SASWAD

ROAD, S. NO. KONDHWA

PUNE - 411 048 (MAHARASHTRA) Your Order No:

Order Dated

Sent By Invoice No. : BY SFC

: RBPPL67620/17-18

**Invoice Date** : 01-Nov-17

Yrsno	Qty Author	Title		Unit Prc	Total Pre	Rs. Prc	Dis%	Net(Rs.)
*8	2 JOSHI K.D.	DEPTT. 08- SE BOOK LIST FOUNDATIONS OF DISCRETE MATHEMATICS /2ND EDN	RS.	450.00	900.00	900.00	10.00	810.00

\* Printed Pric

Total Quantity:

Total Rs.

810.00

Currency Rates :-

Sub Total Rs.

810.00

0.00

Rupees Eight Hundred and Ten Only

ROUNDED OFF +/-Grant Total Rs. 810.00

(PRE - RECEIPTED)

#### GSTIN-07AADCR8463J1ZY

# We certify that the latest edition of the publication are supplied & they are not remaindered titles.

# We certify that correct pulisher price has been charged.

- # We certify that the available India/ISE/Orignal edition are supplied per publisher.
- # Payment may be made by Bank Draft after deducting the Bank charges.
- # Payable at Deutsche Bank, Connaught Place Branch (IFSC Code: DEUT0784PBC, A/C: 000028697000019)
- # PRINTED BOOKS ARE EXEMPTED UNDER GST HSN CODE: 4901 (TAX 0%)

Title copies Text-1-2-810-

Payment may be made by Bank Draft after deducting the Bank charges.

for RESEARCHCO BOOKS & PERIODICALS PV

Thanking you for your patronage and awaiting your further orders.

Our Pan No. AADCR8463J

Non-receipt of goods or any discrepancy must be reported within a week and payment the made witin thirty days in the date of this invoice. If payment is not made within 30 days, interest will be charged @18% p.a.

Certified that the publisher's correct price has been charged and the supplied titles are not remaindered

PRINCIPAL

Page 1 of 1

SINHGAD ACADEMY OF ENGINEERING S. No. 40, Kondhwa - Saswad Road,

Kondhwa (Bk), Pune - 411048

Winhard Academy of Engineering Khondawa (Budruk).



Fax: 91-11-23240273

Email: researchco@researchco.net; akj@researchco.net

Website: www.researchcoindia.com

## Researchco Books & Periodicals Pvt. Ltd.

4735/22, 2nd Floor, Prakash Deep Building, Near P.N.Bank, Ansari Road, Darya Ganj New Delhi-110002

#### **INVOICE**

THE PRINCIPAL

SINHGAD TECHNICAL EDUCATION SOCIETY'S - SINHGAD

ACADEMY OF ENGINEERING

S. NO. 40/4A, NEAR OCTROI POST, KONDHWA-SASWAD

ROAD, S. NO. KONDHWA

PUNE - 411 048

(MAHARASHTRA)

Your Order No :

Order Dated

ant Dry

Sent By

: BY SFC

Invoice No.

: RBPPL67415/17-18

**Invoice Date** 

: 06-Oct-17

Yrsno	Qty	Author	Title		Unit Prc	Total Prc	Rs. Prc	Dis%	Net(Rs.)
0	1	GUPTA I.C.	DEPTT. 01- TE MECHANICAL BOOK LIST TEXT BOOK OF ENGINEERING METROLOGY/ 8TH EDN	r RS	525.00	525.00	525.00	10.00	472.50
*25	2	SINGH D. K.	DEPTT. 02- SE MECHANICAL BOOK LIST	RS.	375.00	750.00	750.00	10.00	675.00 T
*31	1	PARMAR R.S	WELDING PROCESSES AND TECHNOLOGY / 3RD EDN 67152	RS.	299.00	299.00	299.00	10.00	269.10
12	1	MENON DE	DEPTT. 03- T.E. CIVIL BOOK LIST STRUCTURAL ANALYSIS/ 2ND EDN	RS.	895.00	895.00	895.00	10.00	805.50
25	2	DOWNES CO	CAMBRIDGE ENGLISH FOR JOB-HUNTING (WITH CD)	RS	470.00	940.00	940.00	10.00	846.00
*36	2	TIMOSHENK	DEPTT. 04- S.E. CIVIL BOOK LIST ELEMENTS OF STRENGTH OF MATERIALS/ 5TH EDN. 620, 120	RS.	225.00	450.00	450.00	10.00	405.00
1	1	NGUYEN HA	DEPTT. 05- T.E E & TC BOOK LIST FIRST COURSE IN DIGITAL COMMUNICATIONS	RS.	995.00	995.00	995.00	10.00	895.50
5	2	SHAILA DIN	DEPTT. 06- S.E E & TC BOOK LIST\ SIGNALS AND SYSTEMS	RS.	695.00	1,390.00	1,390.00	10.00	1,251.00
9	2	CANTRELL C	DEPTT. 08- SE BOOK LIST MODERN MATHEMATICAL METHODS FOR PHYSICISTS AND ENGINEERS	RS.	1,150.00	2,300.00	2,300.00	10.00	2,070.00

Ref - 3 5 - 3878 -Text - 6 9 - 3812 |-9 14 7690 |-

19 1690 -

7,689.60

14

9

Continued...../

Sinhgad Assdemy of Engineering Khondawa (Budruk), PRINCIPAL

SINHGAD ACADEMY OF ENGINEERING

S. No. 40. Kondhwa - Saswad Road,

1/00-15-5/DIA) Dimo - /11/0/18



Fax: 91-11-23240273

Email: researchco@researchco.net; akj@researchco.net

Website: www.researchcoindia.com

## Researchco Books & Periodicals Pvt. Ltd.

4735/22, 2nd Floor, Prakash Deep Building, Near P.N.Bank, Ansari Road, Darya Ganj New Delhi-110002

#### INVOICE

	$\mathrm{B/F}$
Yrsno Qty Author Title	Unit Prc' Total Pr Rs. Prc Dis% Net(Rs
* Printed Pric Total Quantity: 14	Total Rs. 7,68
Currency Rates :-	Sub Total Rs. 7,68
Rupees Seven Thousand Six Hundred and Ninety Only	ROUNDED OFF +/-
	Grant Total Rs. 7,69
GSTIN- 07AADCR8463J1ZY	boaoless

#### GSTIN-07AADCR8463J1ZY

# We certify that the latest edition of the publication are supplied & they are not remaindered titles.

(PRE - RECEIPTED)

# We certify that correct pulisher price has been charged.

# We certify that the available India/ISE/Orignal edition are supplied per publisher.

# Payment may be made by Bank Draft after deducting the Bank charges.

# Payable at Deutsche Bank, Connaught Place Branch (IFSC Code: DEUT0784PBC, A/C: 000028697000019)

# PRINTED BOOKS ARE EXEMPTED UNDER GST HSN CODE: 4901 (TAX 0%)

Payment may be made by Bank Draft after deducting the Bank charges.

Thanking you for your patronage and awaiting your further orders.

Suiterd Academy of Engineers

Transferra (Budruk),

Our Pan No. AADCR8463J

Non-receipt of goods or any discrepancy must be reported within a week and payment the made witin this the date of this invoice. If payment is not made within 30 days, interest will be charged @ 18% p.a. Certified that the publisher's correct price has been charged and the supplied titles are not remaind

PRINCIPAL

SINHGAD ACADEMY OF ENGINEERING S. No. 40, Kondhwa - Saswad Road, Kondhwa (Bk), Pune - 411048

Page 2 of 2

for RESEARCHCO BOOKS & PERIODICALS PV



Fax: 91-11-23240273

Email: researchco@researchco.net; akj@researchco.net

Website: www.researchcoindia.com

## Researchco Books & Periodicals Pvt. Ltd.

4735/22, 2nd Floor, Prakash Deep Building, Near P.N.Bank, Ansari Road, Darya Ganj New Delhi-110002

#### **INVOICE**

THE PRINCIPAL

SINHGAD TECHNICAL EDUCATION SOCIETY'S - SINHGAD

ACADEMY OF ENGINEERING

S. NO. 40/4A, NEAR OCTROI POST, KONDHWA-SASWAD

ROAD, S. NO. KONDHWA

PUNE - 411 048

Your Order No :

**Order Dated** 

: BY SFC

Sent By Invoice No.

: RBPPL67866/17-18

FUNE - 411 040					nvoice Date : 23-Nov-17					
Yrsno	Qty	Author	Title		U	Jnit Prc	Total Prc	Rs. Prc	Dis%	Net(Rs.)
27	1	BLACK J T &	DEPTT. 02- SE MECHANICAL I DEGARMO'S MATERIALS AND P IN MANUFACTURING : INTERNA STUDENT VERSION/ 11TH EDN	ROCESSES		919.00	919.00	919.00	10.00	827.10
	*	Printed Price	Total Quantity: 1			Tot	al Rs.			827.10
Currency Rates:			Sub Total Rs.					827.10		
Rupee	s Eig	ht Hundred ar	nd Twenty Seven Only	i			OUNDED O			0.10 <b>827.00</b>

## GSTIN-07AADCR8463J1ZY

# We certify that the latest edition of the publication are supplied & they are not remaindered titles.

(PRE - RECEIPTED)

- # We certify that correct pulisher price has been charged.
- # We certify that the available India/ISE/Orignal edition are supplied per publisher.
- # Payment may be made by Bank Draft after deducting the Bank charges.
- # Payable at Deutsche Bank, Connaught Place Branch (IFSC Code: DEUT0796DEL, A/C: 000028697000019)
- # NTED BOOKS ARE EXEMPTED UNDER GST HSN CODE: 4901 (TAX 0%)

Ref-1-1-827/

Payment may be made by Bank Draft after deducting the Bank charges.

for RESEARCHCO BOOKS & PERIODICALS PV

Thanking you for your patronage and awaiting your further orders.

Our Pan No. AADCR8463J

Non-receipt of goods or any discrepancy must be reported within a week and payment the made witin thirty and the state of the date of this invoice. If payment is not made within 30 days, interest will be charged @ 18% p.a.

Certified that the publisher's correct price has been charged and the supplied title are not remainded title

PRINCIPAL

Page 1 of 1

Sinhaad Academy of Engineering Khondawa (Budruk), Pune-48

SINHGAD ACADEMY OF ENGINEERING S. No. 40, Kondhwa - Saswad Road, Kondhwa (Bk), Pune - 411048



Fax: 91-11-23240273

Email: researchco@researchco.net; akj@researchco.net

Website: www.researchcoindia.com

## Researchco Books & Periodicals Pyt. Ltd.

4735/22, 2nd Floor, Prakash Deep Building, Near P.N.Bank, Ansari Road, Darya Ganj New Delhi-110002

### **INVOICE**

THE PRINCIPAL

SINHGAD TECHNICAL EDUCATION SOCIETY'S - SINHGAD

ACADEMY OF ENGINEERING

S. NO. 40/4A, NEAR OCTROI POST, KONDHWA-SASWAD

ROAD, S. NO. KONDHWA

PUNE - 411 048

(MAHARASHTRA)

Your Order No :

**Order Dated** 

Sent By

: BY SFC

Invoice No.

: RBPPL68268/17-18

Invoice Date : 23-Dec-17

Yrsno	Qty	Author	Title			Unit Prc	Total Prc	Rs. Prc	Dis%	Net(Rs.)
*9	2	RAZ SARWA	DEPTT. 03- T.E. C STRUCTURAL DES		ST 2ND EDN	Rs. 350.00		700.00	10.00	630.00
	*	Printed Price	Total Quantity:	2		Tot	al Rs. 1000	te		630.00

Currency Rates:

Sub Total Rs.

630.00

Rupees Six Hundred and Thirty Only

ROUNDED OFF +/-

0.00

Grant Total Rs.

630.00

#### GSTIN-07AADCR8463J1ZY

# We certify that the latest edition of the publication are supplied & they are not remaindered titles.

(PRE - RECEIPTED)

- # We certify that correct pulisher price has been charged.
- # We certify that the available India/ISE/Orignal edition are supplied per publisher.
- # Payment may be made by Bank Draft after deducting the Bank charges.
- # Payable at Deutsche Bank, Connaught Place Branch (IFSC Code: DEUT0796DEL, A/C: 000028697000019)
- # PRINTED BOOKS ARE EXEMPTED UNDER GST HSN CODE: 4901 (TAX 0%)

Fef - 1 - 2 - 630

Payment may be made by Bank Draft after deducting the Bank charges.

for RESEARCHCO BOOKS & PERIODICALS PV

SA. NEW DE

Thanking you for your patronage and awaiting your further orders.

Sinhgad Academy of Engineering

Khondawa (Budruk),

Pune-43

Our Pan No. AADCR8463J

Non-receipt of goods or any discrepancy must be reported within a week and payment the made witin thirty days the date of this invoice. If payment is not made within 30 days, interest will be charged @ 18% p.a.

Certified that the publisher's correct price has been charged and the supplied titles are not remaindered to

RINCIPAL

SINHGAD ACADEMY OF ENGINEERING S. No. 40, Kondhwa - Saswad Road,

Kondhwa (Bk), Pune - 411048

Page 1 of 1